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1. BEEHOEH
(1) BEIWE
OEARMEERE 300,000 330,000 -30,000
QZWmEE 3,600,000 3,300,000 300,000
©REETNE:] 2,105,000 2,380,000 -275,000
OIS 2,077,000 2,100,000 -23,000
CELEX: 1,010,000 680,000 330,000
GEE:S 1,000 1,000 0
BEINEET 9,093,000 8,791,000 302,000
(2) BEER
[OEET
SEEmBIAL 1,474,000 1,582,000 -108,000
HEFXINCE 486,000 564,000 —78,000
EMHHE 1,803,000 1,230,000 573,000
HELE 95,000 245,500 -150,500
R 630,000 600,000 30,000
REXBE 1,038,000 954,500 83,500
BIEERE 365,000 402,000 -37,000
SEEE S 450,000 402,000 48,000
HEKEE 200,000 200,000 0
EERE! 28,000 44,000 -16,000
HE 60,000 65,000 -5,000
FTOMEBEEE 243,000 236,000 7,000
BEEH 6,872,000 6,525,000 347,000
QEEE 0
HBEFY 600,000 840,000 -240,000
EFEEE 20,000 20,000 0
25 200,000 250,000 -50,000
REXBE 300,000 182,000 118,000
HELE 10,000 20,000 -10,000
BIEERE 140,000 110,000 30,000
SEEE S 40,000 50,000 -10,000
FHEKEE 100,000 100,000 0
e 200,000 200,000 0
EBZERAE 264,000 264,000 0
ZBE 77,000 75,000 2,000
3! 0 10,000 -10,000
#HoE 112,000 110,000 2,000
Y 0 0 0
I FHE 20,000 13,000 7,000
HE 23,000 22,000 1,000
SEEE 2,106,000 2.266,000 -160,000
BEER 8,978,000 8,791,000 187,000
LEEEIERAE 115,000 0 115,000
2. [EENERDI
BEIRE 0 0 0
EEN NSt
BENER 0 0 0
BENERE
LR RS B 0 0 0
thestiREE 0 0 0
2 5 — A 1F Bk BA 2 12 3R A8 115,000 0 115,000
—BERHENEES 67,735,000 62,735,000 5,000,000
— B ERHERRES 67,850,000 62,735,000 5,115,000
I, f57E I BREAEEIE R D BT 0
2 5 5 7 1E Bk B 2 12 R AR 0 0 0
EELGHENERS 5,000,000 0 5,000,000
EEIRMENRES 5,000,000 0 5,000,000
MiEkBIEHRES 72,850,000 62,735,000 10,115,000




